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Question 1: What kind of reasoning Descartes use to support the Cogito in the first meditation?
Answer: Descartes’s project appears to be more consistent with the universal thinking. It appears that he is projecting the Meta shape of the limits of our imaginations. For him everything that exist in the universe has any connection with the human interpretations of the thoughts. It has challenged the Aristotle’ interpretation of the senses. Since Aristotle has based the ideas on human senses, creates a relation between the senses and the universe. For example, in Aristotle’s view the imagination is attached to thinking and universe is attached to its seeing. Unless one cannot think, he or she cannot imagine. Similarly if one cannot see, he or she cannot guess the vastness of the universe. The reasoning Descartes use to support the Cogito in first meditation is difficult to answer. As the classic formation of this is “I think, therefore I am” is easy to interpret in a lay man thought. But it has many interpretations. For example if one thinks, according to Descartes, he has  all in his thoughts(Descartes).  It is more likely that he is thinking in the every possible manner in the first meditation. The meditator calls the cogito a very clear and a very different perception. Such perceptions are created as a result of the imaginations. Since imagination is very large and there are many possibilities that one’s interpretation might not get in connection to other. This is how also the things get in order, For Descartes this is what is different in our imaginations. Descartes imaginations are opened to wide interpretations. Things for him are wide and invites much different contours to understand. But if we think the God exist, we are now at the much different place to everyone. For example, Descartes claim that we find a reason to associate our thinking too. In this case cogito is not assured unless in some late meditations. 
Question 2: What point Descartes tries to show by using the wax argument and other argument which supports his point?
Answer: By using the Wax argument, Descartes has superseded the mind, compared to the body. For him, mind has been the driver of the imaginations. It creates thoughts, it adds images, it colors them, and it add life to them. That is how the mind has a primary role over the body. For Descartes, the body has a secondary importance. It is sub ordinate to the imaginations created by mind. If someone want to observe, he can observe the body, the existence and not the inner thing. These hidden feelings are everything. They make the person drives and make him also believe on the thinks that do not exists in the real world. Descartes substantiates his argument by pointing toward many such phenomena where a human being is attracted toward a thing of less important. For him every act reinforces and strengthens the cogito. But in the process of strengthening of Cogito, he mentions that it does not in any way mean that Descartes is moving away from hos attractions for the mind. He has put the emphasis on mind on every way, for him the mind is the center of all the phenomena taking place in the universe. He believes that if I take myself back from the love of mind, I don’t then have anything to associate my feelings and my thoughts to. Another argument he uses to associate himself more toward the mind, is his own abilities, which he thinks are what had made him. He owns every aspect of his mind to himself. He places the mind over the body for so many reasons which makes him distinguished from many others around him. He also mentions that if the body has any attraction (which attracts the earthly beings), it is the mind which makes it attract. In short, Descartes have not much space for the body in his writings.    
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